
C

C.3

5

2

S30-08

NOTE:

SLABS NOT SHOWN FOR CLARITY.

3

S30-08

5

S30-08

6
"

1
'-
1
0
"

1
'-
1
0
"

1
'-
1
0
"

6
"

SCHÖCK ISOKORB S-LINE 

TYPE S22, TYP.

W16x26 (18)

W16x26 (18)

M
C1
8x
42
.7
 (
10
)

MC
18
x4
2.
7 
(5
)

W
10
x1
5 
(9
)

W18x35 (28)

W18x35 (22)

6
"

1
'-
1
1
 
1
/
4
"

6
'-
6
"

2
'-
0
"

1
'-
0
"

1
'-
0
"

1
'-
0
"

1'-0"

W
10
x1
5 
(9
)

5

HELIPAD
273'-10"

1/4

2" RETURN

T+B

1 1/2"

8 1/2" 1
 
1
/
2
"

1
1
"

1
 
1
/
2
"

(2) PLATE 1/2"x10"x1'-2"

PLATE 1/2"x11"x1'-2"

CJP

W12

W16 MC18x42.7

2
"

5
"

5
"

2
"

(3) SCHÖCK ISOKORB 

S-LINE TYPE S22 

SEE ARCH.

1'-0 3/8"

3 1/8" INSULATION PLANE.  SEE 

ARCH. DWGS. FOR 

DETAILS.

3/4"Ø ERECTION BOLT, TYP. 

WITH LONG-SLOTTED 

HORIZONTAL HOLE IN PLATE

5

HELIPAD
273'-10"

7
" 3
 
3
/
4
"

MC18x42.7

MC18x42.7

SCHÖCK ISOKORB 

S-LINE TYPE S22

W10

HEADED STUDS.  

SEE PLAN.

3/4"Ø A325-TC BOLT, TYP. 

WITH LONG-SLOTTED 

HORIZONTAL HOLE

PROVIDE TEMPORARY 

SUPPORT TO PREVENT 

TWISTING OF W10

SEE TYPICAL DETAIL 

FOR SLAB EDGE

3/8" STIFFENER

1/4

1/4

3/16 4

3/16 4

W10

SEE ARCH.

3 1/8"

INSULATION PLANE.  SEE 

ARCH. DWGS. FOR 

DETAILS.

TRANSITION SLAB.  

SEE ARCH. DWGS. 

FOR DETAILS.

5

HELIPAD
273'-10"

(3) SCHÖCK ISOKORB S-LINE 

TYPE S22.  TRIM ENDS AS 

NECESSARY TO ALLOW FOR 

BOLTED SHEAR CONNECTION 

TO W16. 

2
"

5
"

5
"

2
"

W16

W12

W10

MC18x42.7 WT5x22.5 x 

1'-2" LONG

CJP

1/4

2" RETURN

T+B

2 3/4"1 1/2"

1
"

2
 
1
/
2
"

7
"

2
 
1
/
2
"1
"

(2) PLATE 1/2"x4 1/4"x 

1'-0"

INSULATION PLANE.  SEE 

ARCH. DWGS. FOR 

DETAILS.

3/4"Ø ERECTION BOLT, TYP. 

WITH LONG-SLOTTED 

HORIZONTAL HOLE IN PLATE

W10

SEE ARCH.

1'-0 3/8"
3 1/8"

COLUMN

C.3

C
O.H.

6'-10"

1/4 3@12

2'-0"

W16x26 W10x15W10x15

1'-0"
3/8" BENT PLATE W/ 

3/4"Øx10" SHEAR STUD @ 

1'-0" O.C. (HDG)

SEE PLAN FOR SLAB 

REINFORCEMENT.  USE 

STANDARD HOOK AT SLAB EDGE 

AS SHOWN.

SHEAR STUD.  SEE PLAN 

FOR QUANTITY AND SIZE.

5
"

ERECTION BOLT

2'-0"

6'-10"

1/4 3@12

3/8" BENT PLATE W/ 

3/4"Øx10" SHEAR STUD @ 

1'-0" O.C. (HDG)

SEE PLAN FOR SLAB 

REINFORCEMENT.  USE 

STANDARD HOOK AT SLAB EDGE 

AS SHOWN.

SHEAR STUD, TYP.  SEE PLAN 

FOR QUANTITY AND SIZE.

ERECTION BOLT

5
 
1
/
2
"

5
"

W10x22
W16x26

W10x15 W18x40

2'-3"

2'-3"6"

2'-0"4'-10"

MIN.

1'-4"

DOUBLE-SIDED 

HORIZONTAL STIFFENER

FACE PLATE MOMENT CONNECTION 

TO BE DESIGNED BY STEEL 

FABRICATOR

NOTES:

1. DESIGN FACE PLATES FOR 0.8 x ФMp AND 0.8 x 

ФVn OF THE SMALLER BEAM.

2. ALL BOLTS SHALL BE SLIP CRITICAL.

5
"

W10x22

W18x50

W10x15

W18x40

CONTINUITY PLATE TO MATCH FLANGE 

DIMENSIONS (MIN.) AND GRADE OF 

BACKSPAN BEAM

C.3

4'-10" 2'-0"

C
O.H.

1'-0"

6"

W16x26

HSS8x8x3/8

W10x15

FACE PLATE MOMENT CONNECTION 

TO BE DESIGNED BY STEEL 

FABRICATOR

NOTES:

1. DESIGN FACE PLATES FOR 0.8 x ФMp AND 0.8 x 

ФVn OF THE SMALLER BEAM.

2. ALL BOLTS SHALL BE SLIP CRITICAL.

W16x26
MIN.

1'-0"

DOUBLE-SIDED HORIZONTAL STIFFENER

CONTINUITY PLATE TO MATCH FLANGE 

DIMENSIONS (MIN.) AND GRADE OF 

BACKSPAN BEAM

HELIPAD
273'-10"

 3/4"Øx10" SHEAR STUD 

AT 1'-0" O.C. (HDG)

SHEAR STUD.  SEE PLAN 

FOR QUANTITY AND SIZE.

SEE PLAN FOR SLAB 

REINFORCEMENT.  USE STANDARD 

HOOK AT SLAB EDGE AS SHOWN.

1'-0"

CONT. CURVED PL. 3/8"x1'-0"

CONT. CURVED PL. 3/8"x7 5/8"

W18, SEE PLAN

(1/4)
GALV.

1/4
GALV.

ERECTION BOLT

TRUE NORTH

RICHARDS 
BUILDING

EAST TOWER

TRUE NORTH

1

2 3

4
5

6 7

8

16 2345

A

E

B

C

D

16 2345

A

E

B

C

D

SHEET NUMBER

TITLE

KEY PLANS

PROJECT TITLE

Approved

Checked

Drawn

CONSULTANTS

STRUCTURAL ENG/ BUILDING ENVELOPE CONSULTANT

CIVIL/ LANDSCAPE ARCHITECT

MEPFP ENGINEER/ CODE

PROJECT KEY PLAN

OVERALL KEY PLAN

1 - GILMAN GARAGE
2 - CONGRESS STREET

3 - VISITOR GARAGE
4 - EAST TOWER

5 - CENTRAL UTILITY PLANT
6-BEAN BUILDING

7-RICHARDS BUILDING
8-MAINE GENERAL BUILDING

CLIENT

Job Number

CONSTRUCTION MANAGER

COST ESTIMATOR

ELEVATOR CONSULTANT

Copyright ©  2017 Perkins+Will

3
/2

9
/2

0
1

8
 9

:2
1

:0
3

 A
M

I:
\B

O
S

\P
ro

je
c
ts

\2
0
1

5
\1

5
0

0
9

3
.0

0
-M

M
C

2
\D

ra
w

in
g
s
\W

o
rk

in
g

_
S

e
t\
_

R
e
v
it
\L

O
C

A
L
 U

S
E

R
S

\R
E

E
v
a

n
s
\1

5
2

1
8
1

-M
M

C
-E

A
S

T
 T

O
W

E
R

-v
2

0
1
7

 -
 S

T
R

U
C

T
 -

 R
E

E
v
a

n
s
. r

v
t

S30-08

STEEL DETAILS

East Tower 6 & 7
Addition

22 Bramhall Street
Portland, ME 04102

Maine Medical
Center

CONSTRUCTION DOCUMENTS
JANUARY 26, 2018

Simpson Gumpertz & Heger Inc.

Segabo Technics
75 John Roberts Road , Suite

1A, South Portland, ME 04106

41 Seyon Street, Building 1, Suite 500,
Waltham, MA 02453

AKF Group LLC
99 Bedford Street, 2nd Floor, Boston MA 02111

22 Bramhall Street
Portland, ME 04102

152181.000

TURNER CONSTRUCTION
2 Seaport Lane, Suite 200, Boston, MA 02210

D.G.JONES INTERNATIONAL
3 Baldwin Green Common,Suite 202, Woburn, MA 01801

REE

BMT

JHT

VDA (Van Deusen & Associates)
101 Summer Street, 4th Floor, Boston MA

02110

225 Franklin Street, Suite 1100
Boston, MA 02110

t 617.478.0300
f 617.478.0321

www.perkinswill.com

 1/2" = 1'-0"

HELIPAD PART PLAN AT HEADHOUSE
1

 1 1/2" = 1'-0"

SECTION: HELIPAD CONNECTION AT HEADHOUSE
2

 1 1/2" = 1'-0"

SECTION: HELIPAD CONNECTION AT HEADHOUSE
3

 1 1/2" = 1'-0"

SECTION: HELIPAD CONNECTION AT HEADHOUSE
5

 3/4" = 1'-0"

SECTION: HELIPAD EDGE DETAIL
6

 3/4" = 1'-0"

SECTION: HELIPAD EDGE DETAIL
7

 3/4" = 1'-0"

SECTION: HELIPAD EDGE DETAIL
8

 3/4" = 1'-0"

SECTION: HELIPAD WALKWAY AT POST
9

 1 1/2" = 1'-0"

TYPICAL CURVED BENT PL. AT HELIPAD
4

NO ISSUE DATE

4/


